
  

1/One of   _____  most beneficial aspects: 

a/ nothing         b/a 

c/an                   d/ the 

2. of globalization is   _____   movement of people 

across borders: 

a/ nothing         b/a 

c/an                   d/ the 

3. For example, in   _____   small town where I live in 

Mexico, there are now shops owned and operated by 

people from China.  

a/ nothing         b/a 

c/an                   d/ the 

4. For people in town,  _____   Chinese are not quite 

as “foreign” as they were before. There are many other 

examples as well. 

a/ nothing         b/a 

c/an                   d/ the 

  

 

Using Articles: 

 



 

1. the events   _____  one  

a. in   b. of 

c. with          d. to    

2. part   _____   the world have a significant: 

a. with                           b. of 

c. toward                      d. over 

3. impact   _____  the  

a. in                                 b. on 

c. with                              d. Over 

4. rest   _____   the world: 

a. of                              b. With 

c. toward                     d. over 

 

1.Many countries are worried about increasing 

__________ and have strict laws to control the number 

of people who can become citizens 

 a. migrate              b. immigrate 

c. immigration       d. migration 
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Using Prepositions 

 

إجابة هالفقرة  

 of بينما في القطعة هي  inفي المحاضرة اختار 



2. _________ is an important source of revenue for a 

lot of countries. 

 a. tourism                b. touring 

c. tourist                 d. to tour  

3. Many cities in the United States have a 

multicultural atmosphere.  This can be seen in their 

great _______  of ethnic restaurants. 

 a. diverse         b. divergence 

c. diversity       d. deriving 

4. The world is truly becoming interdependent. No 

country today can survive in ___________. 

 a. isolation           b. am 

c. isolate                d. had 

5. It is almost impossible to keep up with all the recent 

__________ changes. 

 a. am                    b. is 

c. are                    d. technological 

 

 

 

Good luck 

Loooli 


